EUPIL NBIWIE s oo ittt e

+ 245

(a) 2143
+ 3208

(a) 12 045
+ 14 169

(a) 248
237
+ 155

(a) 134
224

312

+ 125

ADDITION

NUMBER
{b) 508 {c) 479
+235 +284
{b) 4066 {c) 3458
+ 2789 + 2784
(b} 34658 (¢} 421500
+ 23 357 + 378 999
{b) 3460 {c) 5624
2548 5895
+ 1208 + 2417
(b) 1417 (c) 7209
1682 6318
2091 5427
+ 2605 + 4536

DS B {c)

6. Find the missing numbers to complete each sum,

(a) 5 GD (b}

{d)

{d)

(d)

(d)

(d)

645
+ 387

8417
+ 2395

—

385 929

+ 325 985

21 462
20 555
+ 21289

—

19 405
11 652
22 074
+54 199

+ 3 5 5 + 3 8 9 +D4 GD +
2 3 0 4 7 1 0 9
(h)

(e)

{e)

{e)

(e)

(e)

786
+ 298

7654
+ 4564

845 845
+ 666 666

—_—

—

201 455
286 209
+ 132 655

————

—_—

742 581
330 609
199 500
+ 251 387
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